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What will have the biggest impact on host performance in a stretched cluster environment?
Response:

A. Host reads

B. Deduplication ratios

C. Sync-Rate on snapshots

D. Round trip latency between sites

Answer: D

Which IBM Spectrum Virtualize action shows LUNs that have been mapped for virtualization?
Response:

A. Zone Storage

B. Assign Storage

C. Discover Storage
D. Authorize Storage

Answer: C

Which statement is true about virtualization of storage with IBM Spectrum Virtualize?
Response:

A. It is possible to virtualize a NAS, Network Attached Storage.
B. The connectivity supported on the backend is only via Fiber Channel.
C. Verify the storage array to be virtualized is supported on the IBM SSIC website.

D. A SAN switch establishing the direct connection between IBM Spectrum Virtualize and Storage is
required for virtualization of storage.

Answer: C
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What is the purpose of using a consistency group in a Metro Mirror and Global Mirror replica?
Response:

A. to force the synchronism between the volumes within the group

B. to maintain the consistency of data transmission links

C. to maintain the consistency of groups of hosts or clusters

D. to keep data synced across all the relationships that are being replicated within the group

Answer: D

Which features must be enabled in the browser to manage IBM Spectrum Virtualize?
Response:

A. JavaScript and Cookies

B. Shockwave Flash and JavaScript

C. OpenH264 Video Codec and Shockwave Flash

D. Widevine Content Decryption Module and Cookies

Answer: A

Which parameter can be modified to control the initial rate of data transfer between two copies of a
volume mirror?
Response:

A. Extent Size

B. Flow Control

C. Buffer Credits

D. Synchronization Rate

Answer: D

Vigit us at: https://www.examsempir e.com/c1000-089



Which FlashCopy preset creates a copy of the source volume data on a target volume that can be
incrementally updated?
Response:

A. Clone

B. Backup
C. Archive
D. Snapshot

Answer: B

In an automatic upgrade of a single I/O group SAN Volume Controller system after the first node is
upgraded, how long is the pause before the second node starts to update?
Response:

A. 10 minutes
B. 20 minutes
C. 30 minutes
D. 40 minutes

Answer: C

What does a VMware host use to establish a data path to a virtual volume?
Response:

A. round robin

B. static route

C. protocol endpoints
D. virtual dynamic paths

Answer: C

A customer with two IBM FlashSystem 7200s clustered together notices increased 1/0 on intrasystem
links at night when they run snapshots with IBM Copy Data Manager. What should the administrator
look for as a cause for this increased 1/0?

Response:
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A. clean rate is set high

B. source and target are on different /0 groups

C. snapshots were created with the backup definition

D. source and target are on different nodes in the same 1/O group

Answer: B
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